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Time: 3 Hours

Section A

Answer all questions. Each question carries 1 mark.

1. Recruitment 
2. Define negotiation

3. Define industrial relations.
4. Industrial democracy

5. Productivity.

6. Industrial relations audit

7. Gratuity
8. Perks
9. Extra mural functions of trade unions.
10. Anarchist unions.







(10 X 1 = 10marks)
Section B
Answer any 8 questions. Each question carries 2 marks.

11. Suggestion scheme

12. Objectives of workers education.
13. Different ways to enhance employee empowerment.
14. Wage board
15. Employee referral programme.

16. Mention the importance of trade unions in IR.

17. Sarvodaya approach.

18. Unfair labour practices.

19. Name 4 training programmes organized by DGET.
20. Discuss the importance of collective bargaining.

21.What are the reasons for employees to join trade unions?

22. State the objectives of AITUC.





(8 X 2 = 16 marks)

Section C
Short essay questions

Answer any 6 questions. Each question carries 4 marks.

23. Works committee.

24. Importance of workers participation.
25. Explain the functions of ASSOCHAM.
26. Discuss the various welfare schemes in India.
27. Collective bargaining process.
28.What are the functions of trade unions?

29.Revolutionary unions.

30.Human relations approach.

31.Discuss the organization structure of quality circles.
(6 X 4= 24 marks)

Section D

Long Essay questions

Answer any 2 questions.  Each question carries15 marks.

32.Discuss the various problems faced by trade unions and measures to strengthen it.
33. Explain the role of joint management councils in the modern scenario.

34.Explain the various approaches to industrial relations.

35.Why is collective bargaining considered to be the best approach to the maintenance of industrial harmony?
(2 X 15 = 30 marks)

[image: image2.png]



Scan QR Code for Answer Scheme

2


